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Opgave: 
 
Bestem rationale tal a, b og c, så  

3 3 3 3 32 1 a b c− = + +  . 
 

Besvarelse: 
 
Vi sætter 

3 3 32 1 og 2x y= − =   . 
Så er 

3 32 og 1 .y x y= = −  
Desuden er 

                               ,                     (1) 3 3 22 1 1 1 ( 1)(y y y y= ⇔ = − ⇔ = − + +1)y
og da y3 + 1 = 3 er 

                    2 2 2 31 1 1
3 3 31 (3 3 3) (3 3 1) ( 1)y y y y y y y y+ + = + + = + + + = + 3  .           (2) 

Efter (1) og (2) får vi 

                              
3

2 3
3 1 3

11 ( 1)
1 hvoraf yy y y

x y x 3
++ + +

= − = = =   .                   (3) 

Vi har endvidere 
3 23 1 ( 1)(y y y y= + = + − +1)  , 

hvoraf 

                                                               
2 11

1 3
y y

y
− +

+ =   .                                            (4) 

Af (3) og (4) fås 
3 3 22 3 3 3 3 33 3 1
3 3 3( 1) ( 2 2 1) ( 12 6x y y= − + = − + = − + 3)  

3 3 3 3 3 312 6 3 4 2 1
27 9 927 27 −= − + = + + 9   , 

og dermed er (a,b,c) = ( )4 2 1
9 9 9, ,−  . 
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